

(An Autonomous Institution) Coimbatore - 641 035



DEPARTMENT OF MATHEMATICS Marginal distribution, Conditional distribution

Contenuous Two Demonsional Random Vausables $F(x,y) = \begin{cases} Cx(x-y), & 0 < x < 2, -2 < y < 1, \\ 0, & 0 + to elwage \end{cases}$

D. C 11). F(xx) 111). F(Y/x) 80/2.

i)
$$\int_{-\infty}^{\infty} \int_{-\infty}^{\infty} f(x, y) \, dy \, dx = 1$$

$$\int_{-\infty}^{\infty} \int_{-\infty}^{\infty} f(x, y) \, dy \, dx = 1$$

$$0 - x$$

$$C\int_{-\infty}^{\infty} (x^{\alpha} - xy) \, dy \, dx = 1$$

$$C\int_{0}^{\infty} \left[x^{2}y - x \frac{y^{2}}{2} \right]^{x} dx = 1$$

$$C \int_{0}^{x} \left[(x^{3} - \frac{x^{3}}{2}) - (-x^{3} - \frac{x^{3}}{2}) \right] dx = 1$$

$$C \int_{0}^{x} \left[(x^{3} - \frac{x^{3}}{2}) + (-x^{3} - \frac{x^{3}}{2}) \right] dx = 1$$

$$C\int_{0}^{\infty} 2x^{3} dx = 1$$

$$2\left(\frac{2^{4}}{4}\right)^{2} = 1$$

$$\frac{c}{2} \left(2^{4} - 0 \right) = 1$$

$$\frac{16c}{8} = 1$$

$$8c = 1 \Rightarrow c = 1/8$$



(An Autonomous Institution)
Coimbatore – 641 035
DEPARTMENT OF MATHEMATICS
Marginal distribution, Conditional distribution



ii). Marganar beneatly function of
$$x$$
 (MDF of x)
$$f(x) = \int_{-\infty}^{\infty} f(x,y) dy$$

$$= \int_{-x}^{x} \frac{1}{8} x(x-y) dy$$

$$= \frac{1}{8} \int_{-x}^{x} (x^2 - xy) dy$$

$$= \frac{1}{8} \left[x^{8}y - x \frac{y^{8}}{2} \right]^{x}$$

$$= \frac{1}{8} \left[\left(x^{3} - \frac{x^{3}}{2} \right) - \left(-x^{3} - \frac{x^{3}}{2} \right) \right]$$

$$= \frac{1}{8} \left[x^3 - \frac{x^3}{8} + x^3 + \frac{x^3}{8} \right]$$
$$= \frac{2x^3}{8}$$

$$f(x) = \frac{x^3}{4}$$
, orara

whit
$$f(y/x) = \frac{f(x, y)}{f(x)}$$

$$= \frac{\frac{1}{8}x(x-y)}{x^{3}/4}$$



(An Autonomous Institution)

Coimbatore – 641 035

DEPARTMENT OF MATHEMATICS

Marginal distribution, Conditional distribution



$$= \frac{4/8(x^2 - 24y)}{2x^3}$$

$$= \frac{1}{2} \frac{x(x - y)}{2x^3}$$

$$= \frac{1}{2} \frac{x - y}{2x^2}$$

If the fort Pubabalaty density functions
$$F(x,y) = \int xy^2 + \frac{x^2}{8}, \quad 0 \le x \le 2 \quad 2 \quad 0 \le y \le 1$$
i).
$$P(x > 1/y < y_2) \quad \text{ii)}. \quad P(y < y_2 / x > 1)$$
iii).
$$P(x < y) \quad \text{iv)}. \quad P(x + y \le 1)$$

Soln.

$$\frac{P(xy)/y \langle \frac{1}{2} \rangle}{P(y \langle \frac{1}{2} \rangle)} \rightarrow 0$$

Now,
$$P[xy]$$
, $y < \frac{1}{8}$ = $\int_{1}^{2} \int_{0}^{3} (xy^{8} + \frac{x^{8}}{8}) dy dx$
= $\int_{1}^{2} \left[\frac{xy^{3}}{3} + \frac{x^{8}}{8}y \right]^{\frac{1}{8}} dx$
= $\int_{1}^{2} \left[\frac{x}{3} \left(\frac{1}{8} \right) + \frac{x^{8}}{8} \left(\frac{1}{2} \right) \right] - 0 dx$
= $\int_{1}^{2} \left(\frac{x}{3} + \frac{x^{8}}{16} \right) dx$



(An Autonomous Institution) Coimbatore - 641 035



DEPARTMENT OF MATHEMATICS

Marginal distribution, Conditional distribution
$$= \left(\frac{1}{24} + \frac{x^2}{2} + \frac{1}{16} + \frac{x^3}{3}\right)^{\frac{3}{4}}$$

$$= \left(\frac{4}{48} + \frac{8}{48}\right) - \left(\frac{1}{48} + \frac{1}{48}\right)$$

$$= \frac{12}{48} - \frac{2}{48}$$

$$= \frac{10}{48}$$

$$= \frac{5}{24} \rightarrow (2)$$

ii).
$$P(y < \frac{1}{2} / x y_1)$$

$$= \frac{P(x y_1, y < \frac{1}{2})}{P(x y_1)}$$

$$P(y < \frac{1}{2}) = \int_{0}^{2} \int_{0}^{1} + (x, y) \, dy \, dx$$

$$= \int_{0}^{2} \int_{0}^{1} \left(x y^{4} + \frac{x^{4}}{8} \right) \, dy \, dx$$

$$= \int_{0}^{2} \left[\frac{x y^{3}}{3} + \frac{x^{2}}{8} y \right] \, dx$$

$$= \int_{0}^{2} \left[\frac{x y^{3}}{3} + \frac{x^{2}}{8} y \right] \, dx$$

$$= \int_{0}^{2} \left[\frac{x}{3} \left(\frac{1}{8} \right) + \frac{x^{4}}{8} \left(\frac{1}{2} \right) \right] \, dx$$

$$= \int_{0}^{2} \left[\frac{x}{3} + \frac{x^{3}}{16} \right] \, dx$$

$$= \left[\frac{x^{4}}{48} + \frac{x^{3}}{48} \right]_{0}^{2}$$

$$= \frac{4}{48} + \frac{8}{48} = \frac{19}{48}$$



(An Autonomous Institution)
Coimbatore – 641 035
DEPARTMENT OF MATHEMATICS
Marginal distribution, Conditional distribution



$$P(x \times 1 \mid y \times \frac{1}{2}) = \frac{5}{24} \cdot \frac{4}{1}$$

$$= \frac{5}{6}$$

ii).
$$P(y < \frac{1}{2} / x > 1)$$

$$= \frac{P(x > 1, y < \frac{1}{2})}{P(x > 1)} \rightarrow (3)$$

Now

$$P(x > 1) = \int_{1}^{2} f(x, y) \, dy \, dx$$

$$= \int_{1}^{2} \left(xy^{2} + \frac{x^{2}y'}{8} \right) \, dy \, dx$$

$$= \int_{1}^{2} \left[\frac{x}{3} + \frac{x^{2}}{8} \right] \, dx$$

$$= \int_{1}^{2} \left[\frac{x}{3} + \frac{x^{2}}{8} \right] \, dx$$

$$= \left(\frac{4}{6} + \frac{x^{3}}{24} \right) - \left(\frac{1}{6} + \frac{1}{24} \right)$$

$$= \frac{16 + \varepsilon - 4 - 1}{24}$$

$$= \frac{19}{24}$$

$$(3) \Rightarrow P(y \times \frac{1}{2} / \times r) = \frac{5}{24} \times \frac{24}{19} = \frac{5}{19}$$



(An Autonomous Institution)
Coimbatore – 641 035
DEPARTMENT OF MATHEMATICS
Marginal distribution, Conditional distribution



$$\begin{aligned}
&= \int_{0}^{3} \int_{0}^{4} f(x, y) \, dx \, dy \\
&= \int_{0}^{3} \int_{0}^{4} f(x, y) \, dx \, dy \\
&= \int_{0}^{3} \left[\frac{x^{2}}{2} y^{3} + \frac{x^{3}}{24} \right]^{3} \, dy \\
&= \int_{0}^{3} \left[\frac{y^{4}}{2} + \frac{y^{3}}{24} \right] \, dy \\
&= \int_{0}^{3} \left[\frac{y^{5}}{2} + \frac{y^{4}}{96} \right]^{3} \\
&= \frac{1}{10} + \frac{1}{46} \\
&= \frac{96 + 10}{960} = \frac{106}{960}
\end{aligned}$$

This. $P(x + y \le 1)$

$$= \int_{0}^{3} \int_{0}^{4} f(x, y) \, dx \, dy$$

$$= \int_{0}^{3} \int_{0}^{4} f(x, y) \, dx \, dy$$

$$= \int_{0}^{3} \int_{0}^{4} \left[\frac{x^{3}}{2} y^{3} + \frac{x^{3}}{24} \right] \, dy$$

$$= \int_{0}^{3} \left[\frac{x^{3}}{2} y^{3} + \frac{x^{3}}{24} \right] \, dy$$

$$= \int_{0}^{3} \left[\frac{x^{3}}{2} y^{3} + \frac{x^{3}}{24} \right] \, dy$$

$$= \int_{0}^{3} \left[\frac{x^{3}}{2} y^{3} + \frac{x^{3}}{24} \right] \, dy$$

 $\left[\frac{(1-y)^3y^2}{2} + \frac{(1-y)^3}{24}\right] dy$



(An Autonomous Institution)

Coimbatore – 641 035

DEPARTMENT OF MATHEMATICS

Marginal distribution, Conditional distribution



$$= \int_{0}^{1} \left[\frac{y^{2} + y^{4} - ay^{3}}{a^{2}} + \frac{(1 - y)(1 + y^{2} - ay)}{a^{4}} \right] dy$$

$$= \int_{0}^{1} \left[\frac{y^{2} + y^{4} - ay^{3}}{a^{2}} + \frac{(1 - y)(1 + y^{2} - ay)}{a^{4}} \right] dy$$

$$= \int_{0}^{1} \left[\frac{y^{2} + y^{4} - ay^{3}}{a^{2}} + \frac{1 + y^{2} - ay - y - y^{3} + ay^{2}}{a^{4}} \right] dy$$

$$= \frac{1}{a^{4}} \int_{0}^{1} \left[\frac{1}{2} (y^{2} + y^{4} - ay^{3}) + (1 + 3y^{2} - 3y - y^{3}) \right] dy$$

$$= \frac{1}{a^{4}} \int_{0}^{1} \left[\frac{1}{2} x y^{4} - ax y^{3} + 1 + 3y^{2} - 3y - y^{3} \right] dy$$

$$= \frac{1}{a^{4}} \int_{0}^{1} \left[\frac{1}{2} x y^{4} - ax y^{3} + 1 + 15 y^{2} - 3y + 1 \right] dy$$

$$= \frac{1}{a^{4}} \left[\frac{1}{5} - \frac{ax}{5} + \frac{1}{3} - \frac{3}{3} + 1 \right] - 0$$

$$= \frac{1}{a^{4}} \left[\frac{1}{5} - \frac{ax}{5} + \frac{1}{3} - \frac{3}{3} + 1 \right] - 0$$

$$= \frac{1}{a^{4}} \left[\frac{1}{5} - \frac{ax}{5} + \frac{1}{3} - \frac{3}{3} + 1 \right] - 0$$

$$= \frac{39}{1440}$$

$$= 0.027$$



(An Autonomous Institution) Coimbatore - 641 035 DEPARTMENT OF MATHEMATICS



3) The fornt PDF of the RV is given by,
$$f(x, y) = Kxy e^{-(x^2 + y^2)}$$
, $x > 0$, $y > 0$.

Soln.

i).
$$\iint_{-\infty}^{\infty} F(x, y) \, dy \, dx = 1$$

$$K \int_{0}^{\infty} \int_{0}^{\infty} x dy \, \bar{\varrho} \, x^{\bar{\varrho}} \, \bar{\varrho}^{y\bar{\varrho}} \, dy \, dx = 1$$

Take
$$x^2 = 5$$
 | $y^2 = t$
 $ds = 2x dx$ by $dy = dt$
 $\frac{ds}{a} = x dx$ | $y dy = \frac{dt}{a}$

Now,
$$K \int_{0}^{\infty} \int_{0}^{\infty} e^{-S} e^{-t} \frac{dt}{a} \frac{ds}{a} = 1$$

$$\frac{K}{4} \int_{0}^{\infty} \int_{0}^{\infty} e^{-5} e^{-\frac{1}{2}} dt ds = 1$$

$$\frac{k}{4} \int_{0}^{\infty} e^{-5} \left[\frac{e^{-t}}{-1} \right]^{\infty} ds = 1$$

$$-\frac{\kappa}{4}\int_{0}^{\infty}e^{s}\left[0-i\right] ds=1$$

$$\frac{K}{4} \left(\frac{\overline{e}^5}{-1} \right)^{\infty} = 1$$



(An Autonomous Institution)
Coimbatore – 641 035
DEPARTMENT OF MATHEMATICS
Marginal distribution, Conditional distribution



$$\frac{-K}{4}(0-1) = 1$$

$$\frac{K}{4} = 1$$

ii). X & y are 9 ndependent.

To prove $f(x, y) = f(x) \cdot f(y)$

Now,

$$f(x) = \int_{0}^{\infty} f(x, y) dy$$

$$= \int_{0}^{\infty} 4\pi y e^{-(x^{2} + y^{2})} dy$$

$$= 4\pi e^{-x^{2}} \int_{0}^{\infty} y e^{-y^{2}} dy$$

Take $y^{2} = t$ 2y dy = dt $y dy = \frac{dt}{2}$ $= 4xe^{-x^{2}} \int_{0}^{\infty} e^{-t} \frac{dt}{2}$ $= 2xe^{-x^{2}} \left[\frac{e^{-t}}{2} \right]_{0}^{\infty}$ $= -2xe^{-x^{2}} \left(0 - 1 \right)$ $f(x) = 2xe^{-x^{2}}, x > 0$ $f(y) = \int_{0}^{\infty} f(x, y) dx$



(An Autonomous Institution) Coimbatore - 641 035 DEPARTMENT OF MATHEMATICS



$$= \int_{0}^{\infty} 4xy \, e^{(x^{2}+y^{2})} \, dx$$

$$= 4y e^{-y^{2}} \int_{0}^{\infty} x e^{-x^{2}} \, dx$$

Take
$$x^2 = 5$$

$$2x dx = d5$$

$$x dx = \frac{d5}{2}$$

$$= 4ye^{-y^2} \int_0^\infty e^{-3} \frac{d5}{2}$$

$$= 2ye^{-y^2} \left[\frac{e^{-5}}{2} \right]_0^\infty$$

$$= -2ye^{-y^2} \left[\frac{e^{-5}}{2} \right]_0^\infty$$

$$= -2ye^{-y^2$$

If the fornt density function of x8y is ven by, $F(x,y) = \sqrt[3]{(1-e^{-x})(1-e^{-y})}, \text{ aro, yro}$ 0, otherwisegover by,

$$F(x,y) = \sqrt{(1-e^{-x})(1-e^{-y})}, x > 0, y > 0$$

To plove 284 are podependent.

Soln.
WHT
$$f(x, y) = \frac{\partial^2}{\partial x \partial y} F(x, y)'$$



(An Autonomous Institution)

Coimbatore – 641 035

DEPARTMENT OF MATHEMATICS

Marginal distribution, Conditional distribution



$$= \frac{\partial}{\partial x \partial y} \left[1 - e^{-x} - e^{-y} + e^{-(x+y)} \right]$$

$$= \frac{\partial}{\partial x} \left[-e^{-y} (-1) + e^{-x} e^{-y} (-1) \right]$$

$$= \frac{\partial}{\partial x} \left[e^{-y} - e^{-x} e^{-y} \right]$$

$$= 0 - e^{-y} e^{-x} (-1)$$

$$= e^{-x} e^{-y}$$

$$f(x,y) = e^{(x+y)}$$
To prove:
$$f(x,y) = f(x) \cdot f(y)$$
Now,
$$f(x) = \int_{0}^{\infty} e^{-(x+y)} dy$$

$$= e^{-x} \int_{0}^{\infty} e^{-y} dy$$

$$= e^{-x} \left(\frac{e^{-y}}{-1} \right)_{0}^{\infty}$$

$$= -e^{-x} \left[0 - 1 \right]$$

$$f(x) = e^{-x}$$

$$f(y) = \int_{0}^{\infty} e^{-(x+y)} dx$$

$$= \int_{0}^{\infty} e^{-x} e^{-y} dx$$

$$= \int_{0}^{\infty} e^{-x} e^{-y} dx$$

$$= \int_{0}^{\infty} e^{-x} e^{-y} dx$$

=- e (0-1)



(An Autonomous Institution)
Coimbatore – 641 035
DEPARTMENT OF MATHEMATICS
Marginal distribution, Conditional distribution



$$f(y) = e^{-y}$$

$$f(x) \cdot f(y) = e^{-x} \cdot e^{-y}$$

$$= e^{-(x+y)}$$

$$= f(x, y)$$

: 2 and y are 9 ndependent.